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Kin1 particle: 16

XY trajectory Position along MT
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Kin1 particle: 17

XY trajectory Position along MT Increment process
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Kin1 particle: 19

XY trajectory Position along MT Increment process
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Kin1 particle: 23
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XY trajectory Position along MT Increment process
I 0.08 -

0.8-

— [ . ]
z E 0.06- i
. =,
= Time (s) <= H
2.0 s —
S : g
5 58 = 004-
S o o)
] 1.0 = o
> g o
= 0.5 S Q
© = = 0.02-
[0}
2 0.0 £
-
0.00-
000 025 050 075 0.0 0.5 1.0 15 2.0 0 10 20 30 40
Relative x—direction (um) Time (s) Increment Index
Posterior distribution of k
1.00- :
1
1
075"
§ State 1
o .
é_ 0.50 - Change point 0
2 Velocity 0.5711
[0
8 Std dev 0.0934
& 0.25-

I 1 1
0 1 2

Number of change points, k



Kin1 particle: 32
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Kin1 particle: 36

XY trajectory Position along MT Increment process
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Kin1 particle: 37

XY trajectory Position along MT Increment process
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Kin1 particle: 39

XY trajectory Position along MT Increment process
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Kin1 particle: 40

XY trajectory Position along MT Increment process
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